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The figures in the margin on the right side indicate full marks
Answer Question no. 1, which is compulsory and any five questions from the rest

State whether the following statements are True (T) or False (F) : 1x5=5

Preference shares may be redeemed from the securities premium

Life membership fee may be capitalized and shown in Balance Sheet in liabilities side

R and S divided profit in the ratio of 3:2. T is admitted for 1/5 th share in the business. The new profit

sharing ratio will be 3:2:1.

As per AS-2 inventory is valued at the lower of net realizable value and current replacement cost.

The Contract of insurance is a contract of guarantee |

Fill in the blanks L 1x5=3
Excess of hire purchase price over is treated as hire purchase charges.

Excess of minimum rent over royalties is termed as
Balance of preliminary expenses account is shown in Company’s Balance Sheet under the head of

on assets side.
The “Average Clause” is applicable when the actual loss is than the sum assured.
Turnover ratios are also known as ratios.
Explain the following in single sentences 1x5=5

(i) Stock Turnover ratio
(i) NetRealisable value.
(i) Personal Accounts
(iv) Buy Back of shares
(v) Price Earning ratio

State the method of preparing Cash Flow statement 3

What reconciliation entry will be required to be passed in the books of Head office when cash sent
by the Branch to Head Office at the end of accounting year has not reached the Head Office?
v

Please Turn Over




































